~ &

ZHANGOCO
SHAEZRYERR

= 1HEEH] 50/60 Hz
B R(E

2= M 2RB 210 | 2RB 590

E SR

HIHINE
BEE

WSE :

2= M 2RB 610 Z| 2RB 790

ThESuH :

HIHINE
BEE

SR
=M 2RB 810 to 2RB 943

hESuH :

MHINE
BEE

WSE -

G-2RB %%

0,25 #| 4,0 kW
Fl) A p=490 mbar(P)
80 &) 330 m3¥h

1,6 #] 7,5 kW
Fl] A p=670 mbar(P)
265 Z| 600 m*h

4.0 # 29.0 kW
Fl| A p=750 mbar(P)
500 F| 2450 m3/h

1 04/2010 FHARSHRA



& I —

IEBFNIT IS %

2RB 210 H16

50

0.4

200-240 A /345-415Y

2612 /1.5Y

220-275 A /380-480Y

2.6, /1.5Y

2RB 230 H06

50

0.25

200-240 A /345-415Y

21A/1.2Y

60

0.29

220-275 A /380-480Y

1.7 A /1.0Y

57

2RB 230 H26

50

0.7

200-240 A /345-415Y

3.8A/2.2Y

60

0.83

220-275 A /380-480Y

3.8A/2.2Y

57

2RB 310 H16

50

0.75

200-240 A /345-415Y

3.8/ /2.2Y

60

0.83

220-275 A /380-480Y

3.8A/2.2Y

| 57

2RB 320 H36

50

1.3

200-240 A /345-415Y

5.7 A /3.3Y

60

1.5

220-275 A /380-480Y

6.0 A /3.5Y

60

2RB 330 H16

200-240 A /345-415Y

3.8A/2.2Y

60

0.83

220-275 A /380-480Y

3.8A/2.2Y

58

2RB 410 H16

2RB 420 H36

2RB 430 HO06

2RB 430 H26

16 63
64
25 66

50 0.85 200-240 A /345-415Y 4.0A/2.3Y
60 0.95 220-275 A /380-480Y  |3.85 A /2.25Y
50 1.6 200-240 A /345-415Y 7.5A /4.3Y
60 2.05 220-275 A /380-480Y 7.6 A [4.4Y
50 0.7 200-240 A /345-415Y 3.8A/2.2Y
60 0.83 220-275 A /380-480Y 3.8 A /2.2Y
50 1.3 200-240 A /345-415Y 6.6 A /3.8Y
60 1.5 220-275 A /380-480Y 6.9 A /4.0Y

65

04/2010 $HARSH A



200-240 A /345-415Y 4.0A/2.3Y
220-275 A /380-480Y  [4.2 A [2.4Y

2RB 510 HO06

1. 200-240 A /345-415Y | 7.5A /4.4Y 2 4

JRB 510 H26 50 6 00-240 A /345-415 5A] 3 6
60 2.05 220-275 A /380-480Y | 7.6 A /1.0Y 70
JRB 520 H46 50 3.0 200-240 A /345-415Y |12.5A[7.2Y 40 72
60 3.45 220-275 A /380-480Y | 2.6 A /7.3Y 74

50 0.85 200-240 A /345-415Y 4.0 /2.3Y 21 65
60 0.95 220-275 A [380-480Y |4.2A [2.4Y 71

2RB 530 HO06

50 1.6 200-240 A /345-415Y | 7.5A /A.3Y 24 65
60 2.05 220-275 A /380-480Y | 7.6 A /4.4Y 71

2RB 530 H26

50 1.1 200-240 2 /345-415Y | 5.7 A [3.3Y | 23 64
2RB 590 H26 60 17 220-275 2 /380-480Y | 6.0 A /3.5Y 70

3 04/2010 FARSHATA



50 Hz & BIE%

300

250 A

n0.85

200 +

150 -

[m*h]—>
=
o
1

o3

==
V=

50 -

N

04

©2.2

0 100 200 300 400
BEZEA p [mbar] ———

60 Hz B EER

350
300 ~  0.95
R 1.5

250 A

200

150 1% %o
|
E 100 - 175 .
il NG NG
Ir : 2 36
g % 0.95 Q2.55 o

1.5 !
50 15 255
5 ©0.83
O T T T T
0 100 200 300 400 500

BEZEA p [mbar] ———

4 04/2010 RSB A



EBFNIT IS5

2RB 610 H16

2RB 630 HO06

200-240 A /345-415Y

9.7 A /5.6Y

50 1.6

220-275 A /380-480Y

200-240 A /345-415Y

10.3 A /6.0Y

8.5 A /4.9Y

60 2.05

220-275 A /380-480Y

8.8 A /5.1Y

26

70
73

2RB 630 H26

50 3.0

200-240 A /345-415Y

1252 /7.2Y

220-275 A /380-480Y

12.6 A /7.3Y

35

70

2RB 710 H16

50 2.2

200-240 A /345-415Y

9.7 A /5.6Y

60 2.55

220-275 A /380-480Y

10.3 2 /6.0Y

30

69

72

2RB 710 H36

50 4.0

345-415 A /600-720Y

9.0A /5.2Y

60 4.6

380-480 A /660-720Y

9.0A /5.2Y

40

63
64

2RB 720 H26

2RB 720 H47

50 3.0

200-240 A /345-415Y

1251 17.2Y

60 3.45

50 5.5

220-275 A /380-480Y

345-415 A /600-720Y

12.6 A [7.3Y

4.0A /2.3Y

60 6.3

380-480 A /660-720Y

4.2 N [2.4Y

48

66

73
76

73
76

2RB 730 HO06

50 1.6

200-240 A /345-415Y

8.5 A /4.9Y

60 2.05

220-275 A /380-480Y

8.8 A /5.1Y

29

70
73

70
73

2RB 730 H26

50 3.0

200-240 A /345-415Y

1252 /7.2Y

60 3.45

220-275 A /380-480Y

12.6 A [7.3Y

37

2RB 740 H37

2RB 740 H57

50 4.0

345-415 A /600-720Y

9.0A /5.2Y

60 4.6

380-480 A /660-720Y

345-415 A /600-720Y

9.0A /5.2Y

16.7 A /9.6Y

380-480 A /660-720Y

17.3 A /10.0Y

54

74
78

04/2010 AR SH A



50 Hz £ BB

600

500

400

300

0 100 200 300 400 500
BEZEA p [mbar] ———

60 Hz & BIE%&

700

600

500

400

300

200

RS 8 [m¥h]—>

100

0 100 200 300 400 500
BEZA p [mbar] ——

6 04/2010 FARSERRA



EBAITI S

2RB 810 H17

a1
o

345-415 A /600-720Y

129 A [7.4Y

63

~
o

(©2]
o

) lon
@ (tn

380-480 A /660-720Y

129 A /7.45Y

\'
N

2RB 820 H17

2RB 820 H37

2RB 830 HO7

2RB 830 H27

2RB 840 H37

2RB 910 H17

2RB 920 H17

2RB 920 H37

(&)
o

345-415 A /600-720Y

13.3A/7.7Y

~
N

83

(@]
o

(&)
o

olen
wo

-
N
o

380-480 A /660-720Y

345-415 A /600-720Y

13.3A/7.7Y

28.0 A /16.2Y

~
(4]

\‘
IN

104

(o2}
(@)

(&)
o

~
o

380-480 A /660-720Y

345-415 A /600-720Y

10.3 A /6.0Y

9.5 A /5.5Y

~
o]

(o]
(@]

a
o

380-480 A /660-720Y

345-415 A /600-720Y

9.5 A /5.5Y

16.7 & /9.6Y

\‘
IN

~
o

(*2]
o

o
o

380-480 A /660-720Y

345-415 A /600-720Y

17.3 A /10.0Y

N
N

110

~
N

(o))
o

(o
o

380-480 A /660-720Y

345-415 A /600-720Y

NN
©lo
olo
> >
[~
— -
oo
NN}
<<

28.0 A /16.2Y

~
oo

116

~
N

(o2}
o

(&)
o

380-480 A /660-720Y

345-415 A /600-720Y

29.0 A /16.7Y

28.0 A /16.2Y

~
(o]

\‘
IN

187

(o2}
o

380-480 A /660-720Y

29.0 A /16.7Y

o
N

2RB 930 HO7

50 20.0 345-415 A /600-720Y | 40.0 A /23.0Y 204 74
60 . 380-480 A /660-720Y [ 42.0 A /24.2Y 84
50 8.5 345-415 A /600-720Y | 18.2 A /10.5Y 98 75
60 9.8 380-480 A /660-720Y | 18.2 A /10.5Y 80

2RB 930 H37

[&)]
(@]

-
o]
a

345-415 A /600-720Y

37.0 A& /21.0Y

131

~J
(@]

-480 A -720Y

0 A /22.5Y

I
=N

2RB 940 H37

2RB 943 H27 "

2RB 943 H47 "

n
o

N
o
o

200-240 A /345-415Y

40.0 A /23.0Y

212

~
()]

(@]
o

N
w
o

220-275 A /380-480Y

42.0 A [24.2Y

[0
~

50 15.0 345-415 A /600-720Y [35.0 A /20.0Y 220 75
60 17.5 380-480 A /660-720Y  [36.5 A /21.0Y 84
50 29.0 345-415 A /600-720Y |52.0 A /30.0Y 235 75
60 6.3 380-480 A /660-720Y [52.0 A /30.0Y 84

04/2010 AR S A




50 Hz & BIER

2500

2000

1500

1000

[m*/h]——>

=
=

500

NG

0 100 200 300 400 500
BEZEA p [mbar] ———

60 Hz & BIE%

2500

2000

1500

1000

[m*h]—>

==
VEE

500

S

0 100 200 300 400 500
BEZ A p [mbar] ——

8 04/2010 AR SHA



2RB210

2RB230 "z B
2RB310 \ —
2RB330 ‘ — //g‘~ o
YxZ
- =l L /
| F | N*
=
- = M j
l . \ I
z
S AL X=FL4L
E F J N P Q | eR V9 Vi(3) V'i(39 YxZ
2RB 210 HO06 3~ 230 | 219 101 7 Gl 64 | 10 - M25x1.5 | M16x1.5 | M6x15 0°/120°/240° 1
2RB 210 H16 3~ 256 111 - M25x1.5 | M16x1.5
2RB 230 HO06 3~ 242 101 82 - M25x1.5 | M16x1.5
2RB 230 H16 3~ 267 11 -
2RB 230 H26 3~ -
2RB 310 HO06 3~ 260 69 - M25x1.5 | M16x1.5
2RB 310 H16 3~ -
2RB 330 HO06 3~ 276 85 - M25x1.5 | M16x1.5
2RB 330 H16 3~ -
2RB220 I w
2RB320 A
2RB420 AN
T
YxZ ol \
¥ 3
B & |w
5 T ViR
S \\20'\
B
D F x
E
e pizkia X=FLAL
D H' M P QlerR| S Vi Vigs-) Vs a | oX | YxZ
2RB 220 H26 3~ 205 | 230 106 75 Ge(15tief-deep) 64|10 | 25 - M25x1.5 | M16x1.5 | 27° | 140 | M6x15 51 M71°1291°
2RB 320 H36 3~ 114 82 - 160
2RB 420 H36 3~ 225 | 255 153 73 g G1ﬂz(15ﬁef‘deep) 72| 12 3 - M25x1.5 M16x1.5 | 28° | 174
2RB 420 H46 3~ -

04/2010 RS HIRA




2RB410

2RB430 VV g 20
YxZ
2RB490
AR
<z 1
= A I IS
o N
s
- ¥
/ - } - - /K/
| |
| | \
‘ R ‘ ‘ _ ~— 0
—N K n—I| K" 2
—l— :
F
B Al Py
A B C D E F G H J K L M N 0 P Q |eR| S U Vit Vit Vis) Vi) YxZ [28
2RB 410 HO06 3~ 286 | 302 | 115 | 225 | 255 | 269 | 135 | 154 | 111 | 95 | 130 | 70 | 75 | 46 Gl 72 | 12 | 3 | M6x19 - - M25x1.5 | M16x1.5 174
2RB 410 H16 3~ 292 | 160 120 - -
2RB 410 H26 3~ - -
2RB 430 H06 3~ 288 | 135 111 - - M25x1.5 | M16x1.5
2RB 430 H16 3~ 311 | 160 120 - -
2RB 430 H26 3~ - -
2RB 490 H16 3~ 311 | 160 120 - - M25x1.5 | M16x1.5
2RB510
2RB530
2RB590 /£
" 0
! -
§\\
| g
o -
g
z
BS M X-FLAi
A B C D E F G H J K L M N 0O |oP| Q| 6R | S U Vi N Vit Vi YxZ X w
2RB 510 HO06 3~ 334 | 337 | 120 | 260 | 295 | 314 | 160 | 175 | 120 | 115 | 155 | 96 | 87 | 48 | 55 | 83 | 14 4 M8x17 - - M25x1.5 | M16x1.5 M8x20 0°/120°/240° 200 29
2RB 510 H16 3~ - -
2RB 510 H26 3~ 346 | 191 128 - -
2RB 510 H36 3~ - -
2RB 530 HO06 3~ 334 | 160 120 - - M25x1.5 | M16x1.5
2RB 530 H16 3~ - -
2RB 530 H26 3~ 365 | 191 128 - -
2RB 530 H36 3~ - -
2RB 590 H26 3~ - - M25x1.5 | M16x1.5
10 04/2010 AR SR A



2RB610 YxZ v ——G—
2RB630 )\ W
2RB710 | \ V'V _
2RB730 I I /J
2RB790 - Vg 120
=
=
< .
B
/|
. = A / /
G S
Il
10—
—N K—brr— |5
—L— K
3
F a
s [ XL
AlslclolelFle]H[u]k][L]IM[NJoJer[Q[eR][S] U Voo [ Voo | Vey | Viey | Wz ox [ w
2RB 610 HO6 | 3~ | 360 | 366 | 122 | 284 | 325 | 354 | 191 | 192 | 128 | 140 [ 180 | 64 | 74 | 56 | 56 | 93 | 13 | 45 | Mexi7 - - M25x15 | M16x1.5 | M8x20 0°120°1240° 2 | 29
RB 610 HI6 | 3 - -
RB 610 H® | o 385 | 188 135 M3x15 | Mi2x15 | M32x15 | M3xx15 2
RB 630 HOG | 3 372 | 191 128 - - M25x1.5 | M16x1.5 2
RB 630 HI6 | 3 - -
RB 630 H6 | o 403 | 188 135 M3x15 | M32x15 | M32x15 | M3xx15 2
RB 710 HOG | 3~ | 382 384 | 125 | 290 377 | 191 | 197 | 128 84 | 109 | 54 [ 55 |83 | 15 - - M25x15 | M16x1.5 | M10x20 20 | 29
RB 710 HI6 | 3 - - - -
RB 710 HG | - 409 | 188 135 Max15 | M32x15 | M32x15 | M32x15 2
RB 710 HI | 3 432 | 209 148
RB 730 HO6 | 3 387 | 191 128 M25x15 | M16x15 - - 29
RB 730 H16 | 3~ - -
RB 730 HH | - 419 | 189 135 M3x15 | Ma2x15 | M35 | M3xx15 2
RB 730 HY | o 432 | 209 148
RB 790 H26 | 3~ 317 | 185 128 - - M25x1.5 | M16x1.5 2
%
\
2RB520.-...4. A W 6
YxZ e
-5
vV
2RB720.-...1. ‘ Vo
-2 f
N\
-3,
5
= [ S
>
-
‘
= -
|
| T L
SN K—l M
I Sy
& F
2RB720.-..4 -
-..5
jo]
2
S
s
d
=>
a
= =
g:"? *H{M X-?L{ﬁ [
AlanlBslc| o [e[Fle]Aaf[Hw][v][k][L[M][N]OJoP]Q[eR[S[T][ U v [ ox | vz w
RB 520 A6 | 3~ | 372|411 371 60 | 260 | 295 | 465 | 190 | 175 | 144 | 135 | 115 | 155 | 98 | 171 48 | 55|83 | 14 | 4 | 116 | M8x17 | M32x15 | M32x15 | M32x15 | M32x15 | 200 | MBx20 | Sis/TISHIS | 42
RB 520 HST | 3~ 499 | 224
RB 720 H16 | 3~ | 426|426 | 410 | 63 | 200 325 | 473 191 197 [ 162 | 128 | 140 | 180 | 84 | 205 | 53 15 | 45 [ 130 M25x15 [ M16x15 - | 240 | wioxao 29
B 720 H | 3~ 496 | 188 135 Ma2x15 | M32c15 | M32x15 | M32x15 42
RB 720 HIT | 3~ 526 | 209 148
RB 720 HAT | 3~ 154 | 290 571 226 167 200
RB 720 HST | 3~
11 04/2010 FHASHHLA



A F
2RB740.-...3. ‘ YxZ
= |
=
>
-
‘
>
h=3
-
3
3
2
o
>
a
2RB740.-...4 I
-5 ]
O
3
2
e
2
<
a
= =
S [ X714z
AlB|clc o Je[Fle o[ k[L][M][N]JoJe|[a|w]|[ s | u v [ & | w
2RB 740 H37 3~ 420 410 125 - 290 325 526 209 197 148 140 180 84 205 153 55 83 16 64.5 M8x17 4xM32x1.5 240 M10x20 0°/120°/240°
MRB 740 HAT | B 308 571 | 226 | 257 | 167 200
RB 740 HST | o~
A
2RB810./2RB830
YxZ
‘ N
- /\
(@b | / R
\&J g 5
e o N k /
LSOO S - NV,
: | = N,
L U ~ : ‘ L
el i T s
[N — bt
‘ ] - 2RB820.-...3 I
A ' —G— e . £
2RB820.-...1. vl g =t -
—/ T .,*/
J \_— i3
J— <
o = g
i i{@ < \zn'\ﬁ
- z
g P
‘
‘ I
M
S LiZR0a X-FL4i
alalslelc o lelrlrlolnlw o[ [m[N]N]o] w [ v [w ] x| w
B 810 HOT | 3 | 451 461 | 500 | 152 | 356 | 394 | 433 | 450 | 230 | 240 148 | 170 | 217 | 140 | 124 65 | G2 | 15 axMs2K5 | 42 | 286 | M12x20 0°/120°1240°
2RB 810 H17 3~ 477 | 226 167
RB 810 HZT | o - - -
RB 820 W17 | 3- | 500 | 549 | 490 | 509 | 76 545 | 589 199 236 | 84 514°120°240°
RB 820 H2 | 3-
B 820 H37 | o 694 | 318 197 212 105 AxMAOKI5 | 54
B 820 HAT | o -
RB 830 HOT | 3 | 451 461 | 509 | 152 449 | 466 | 230 148 139 | 164 65 axMsxt5 | 42 0°/120°1240°
B 830 HI7T | o 492 | 247 167
RB 830 HT | o
12 04/2010 HARSHARA




-

xZ

& j |
=
= 2
S 8
3 z
gl
= = -
E *ﬁﬁL X‘?HAL
C c D E F G H 0 oP R S \ W 86X YxZ
2RB 840 H27 3~ 152 - 356 394 589 247 300 125 | G2ie 15 66 4xM32x1.5 42 286 M12x20 0°/120°/240°
2RB 840 H37 3~ - 336 694 | 318 165 4xM40x1.5 54
A F 2
2RB910./930 2
i /\ I
5 B \
= N \
= /3\/ >/
= \
* | —
I
&
Fr M-
D ( !
E F
B i .
= LEE X-FLAL
Blclc[olelrFr|FF o o [a | U v W x| wz
55 | 207 | 15 | 360 | 415 | 525 | 644 | 605 92 100 150 15 1| M12x30 4xM32x1.5 42 490 M12x30 0°/120°/240°

2RB 910 Ho7 3~

2RB 910 H17 3~ 611 4xM40x1.5 54
2RB 910 H37 3~

2RB 930 HO7 3~ 563 | 682 | 643 127 4xM32x1.5 42
2RB 930 H17 3~ 649 4xM40x1.5 54

2RB 930 H37 3~

=

2RB920. F 3
4
v \ 514
28 X
\
f o
- TR — L g F—o— |
- +D7 \< 20
> 2
=
*HF <= mj_/
—{ ) T
T —
F M
K
c
‘
EE] AL X-FL14L
Bt C c' D E F F F N 0 |eP| Q|¢R T U % W (28 YxZ
607 | 16 | 103.5 | 15 | 360 | 415 | 752 | 786 | 634 230 | 92 | 100 | 150 | 15 117 | M12x30 | 4xM40x1.5 54 490 M12x30 51.4°1120°/240°

2RB 920 H17 3~

2RB 920 H27 3~

2RB 920 H37 3~

2RB 920 HA47 3~

812

13

04/2010 HARSE IR




r -
2RB940. g
g
d
YxZ ﬂ
2 /f 0
\
|
S T N S
= /&/ /
el 4
= N T .
- B
ol b
I I
Ht‘ \ckT:
&
] M -—
- .
-
‘
= =
RE HEAL X-FLii
A B Bi o c' D E F F G H J K M N 0 oP Q R S 8] % W oX YxZ
2RB 940 H27 3~ 615 | 657 | 16 207 15 | 360 | 415 | 752 | 786 | 345 | 350 | 197 | 533 | 39 | 280 | 142 | 100 | 140 | 15 il M12x35 4xM40x1.5 54 490 M12x30 120°/60°/60°
2RB 940 H37 3~
2RB 940 H47 3~ 812
e
2RB943.
| ——
X a
| V| FUB* Foot 1
T
N ’/
=
205
| f ‘
8BS HEAL
A B C D E F F F” G P P Q S U \ W YxZ
2RB 943 H27" 3~ 615 723 307 490 526 1201 848 578 291 219 135 201 58 M8x40 4xM40x1.5 54 M12x10.5
2RB 943 H37" 3~
2RB 943 H47" 3~ 908 351
2RB 943:
I = ool
ZATERSRSE

M BERALE - B

HEEM% R AR 15°CESR, HIRES 1013mbar TR TNHH, 2£ZE ME - RERS - ESHREBDIN EN 21680 k. MEBEEL 13K, SEHERD (FE

+10%, MAZSMIMEREASEE 25°CH, MAAZIERREE. 1) MESO (ES) EHE—ZRE BRFRERER .

J=1:): 18
ETHASIRRMRERIL , BUBRESNTWH, BASBITRA.

HR4w: 200436

BiE: 0086-21-36080730

f£E: 0086-21-63516736

E-mai I :zhangao@zhangoco.com

http://www.zhangoco.com

11 15




